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Fall 2007 SIGNATURE -
YOU MAY NOT SHARE CALCULATORS. SIIOW ALL YOUR WORK.
1{dpls). Find ¢"(2) if g(r) = 2%+ * 2.
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2{&pls). Find an equation of the tangent line to the graph of the curve y = fla) =% —x s 2at

the point (—1,2).
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12pts). Use caleulus methods to ﬂnd the absolute maximum value M of the [unction g(x) =
” + %I“ G4 1 on the interval [—4,(
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[image: image2.png]A(14pts). A manulacturer can sell @ computer monitors at a price of p(z) = 160 — 0.002z dollars
each. 1L cost C(x) = 80z -+ 200,000 dollars to produce = monitors.

(a) Find the revenue 22(1,000) if 1,000 monitors are sold.

R(x)=pCxox -(so 0.002x) X
Rtoss) —@”"O )

(b) Pind the value of 2 that will maximize the revenue function /2(:x).
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{¢) I'ind the value of x that will maximize Hn pl()ﬁt [unction P(x).
exo= Rexr— Cexs = (éox~ 0.00dx*°
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5(12pts). Given the cost Tunction ¢/ 1\) = 224 102+900 doltars GF & product, use caleulus methods
(o determine the number of units that should be produced in order to minimize the average cost

Q)= = = x+io+ i;/o

= 900 _ x4 _ _9se
= F =0, X7

per unit.
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[image: image3.png]6(12pts). Use calculus methods (o find two mmbers = and ¥ such thal y — 2 — 50 and the
y 15 A minimum.

product I = ey
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T(14pts). Lot y — f(3) be a funclion such that () x
() Chart, f"(x): .‘”: O ;) x=,-1, 2

-2)* for all z in (-0, 06).
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{hy List the open interval{s} on which the graph of [ is concave up.

(oo, 41>, (0, o)

(¢) List the mimber(s) z where (x, f(2)) is a point of fnflection on the graph of f.

(d) Tf you knew that f/(3) — 0, I8 f(3) a local maximn or a local minimum?

frsry>o, D fr3 ! O

(PPage 3. Continne on Next Page ...




[image: image4.png]8(10pls). Suppose the demand fanction for a commuodity is g(p) = 2500 — p* dollars when p dollars
per unil s charged.

() Find the clasticity funetion E(x).

-y £ d% - - P -2 ):. T
Ewp= - 2 dp ~ Zsoo—pl( F 2600, pr

(h) Determine whether the demand is elastic or inelastic when p = 20 dollars per unit. Interpret
‘h( 1(%1]“ in L((Hl(\llll(‘ﬁ terms.
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9(11pls). Skelch a graph of the lunction y = f(x) satisfics the following properties.
£

(a) It has a vertical asyniptote at x =
(b) It has a horizontal asymptole to y
(( f{x) = 0 for all ept @ —= 2.
J ”(1) > 0in .2y and f”(x) < 0 in (2.00).
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